

STUDY OF CHEMICAL AND HEALTH PROBLEMS BY KUFFI ISSA TRANSFORM

Ahmad Issa¹, Emad A. Kuffi²

¹Department of Mathematics, Karabuk University, Karabuk,
Turkey.

²Department of Mathematics, Mustansiriyah University,
Baghdad, Iraq.

Mathematics Subject Classification (2010): 34A30, 44A15

STUDY OF CHEMICAL AND HEALTH PROBLEMS BY KUFFI ISSA TRANSFORM

Ahmad Issa¹, Emad A. Kuffi²

¹Department of Mathematics, Karabuk University, Karabuk, Turkey.

²Department of Mathematics, Mustansiriyah University, Baghdad, Iraq.

Mathematics Subject Classification (2010): 34A30, 44A15

Keywords and phrases: Kuffi Issa Transform, Inverse Kuffi Issa Transform, Models in Chemical Reactions, Models in Health Sciences, Ordinary Differential Equation.

Abstract

This paper introduces the Kuffi-Issa Transform (KIT), a new mathematical technique developed to deal with problems in chemistry, health, physics, and other sciences. To test the validity of this transform, three chemical and health examples are presented. The results show that this transform is a powerful tool for solving differential equations encountered in chemical and health problems.

1 Introduction

Integral transformations are used to solve differential equations, and are widely used in physics, engineering, and applied mathematics [1, 2, 3]. Through these transformations, a specific function in a domain such as time is transformed into another domain such as frequency. To solve these equations, several transformations have been introduced, including Laplace transform [4], Fourier transform [5], Elzaki transform [6], and Aboodh Transform [7]. Recently, new transformations have been introduced, including complex SEE transform [8], Emad-Sara transform [9], Mayan transform [10], and Jafari transform [11]. In this paper, we will introduce a new transformation (Kuffi Issa transform) to solve differential equations.

2 Preliminaries

2.1 Definitions and Theorems of Kuffi Issa Transform

Definition 2.1 The Kuffi Issa transform of $f(t)$ denoted by $KI[.]$ is given by

$$KI[f(t)] = (uv)^{i\beta} \int_{t=0}^{\infty} f(v^{i\gamma} t) e^{-u^{i\alpha} t} dt = F(u, v), \quad (1)$$

where u, v are parameters; $t \geq 0; \alpha, \beta, \gamma \in \mathbb{Z}$.

Definition 2.2 The Inverse Kuffi Issa transform of $F(u, v)$ denoted by $(KI)^{-1}[.]$ is given by

$$(KI)^{-1}[KI[f(t)]] = \frac{1}{2\pi i} \lim_{\epsilon \rightarrow 0} \int_{\mu - i\epsilon}^{\mu + i\epsilon} (uv)^{i\beta} v^{i\gamma} e^{\frac{u^{i\alpha}}{v^{i\alpha}} F(u, v)} du = f(t). \quad (2)$$

Theorem 2.3 (Linearity of KI Transform)

If $KI[f_1(t)] = F_1(u, v)$ and $KI[f_2(t)] = F_2(u, v)$, then

$$KI[c_1 f_1(t) \mp c_2 f_2(t)] = c_1 F_1(u, v) \mp c_2 F_2(u, v).$$

Proof. By using Eq (1) we obtain

$$\begin{aligned} KI[c_1 f_1(t) \mp c_2 f_2(t)] &= (uv)^{i\beta} \int_0^{\infty} [c_1 f_1(v^{i\gamma} t) \mp c_2 f_2(v^{i\gamma} t)] e^{-u^{i\alpha} t} dt \\ &= c_1 (uv)^{i\beta} \int_0^{\infty} f_1(v^{i\gamma} t) e^{-u^{i\alpha} t} dt \mp c_2 (uv)^{i\beta} \int_0^{\infty} f_2(v^{i\gamma} t) e^{-u^{i\alpha} t} dt \\ &= c_1 F_1(u, v) \mp c_2 F_2(u, v). \end{aligned}$$

Theorem 2.4 Let c be a scalar and $f(t) = c$, then $KI[f(t)] = cu^{i(\beta-\alpha)} v^{i\beta}$

Proof. By using Eq (1) we obtain

$$KI[C] = (uv)^{i\beta} \int_0^\infty C e^{-u^{i\alpha} t} dt = C(uv)^{i\beta} \frac{e^{-u^{i\alpha} t}}{-u^{i\alpha}} \Big|_0^\infty = C u^{i(\beta-\alpha)} v^{i\beta}$$

Theorem 2.5 If $f(t) = t$, then $KI[f(t)] = u^{i(\beta-2\alpha)} v^{i(\beta+\gamma)}$

Proof. By using Eq (1) we obtain

$$\begin{aligned} KI[t] &= (uv)^{i\beta} \int_0^\infty v^{i\gamma} t e^{-u^{i\alpha} t} dt = u^{i\beta} v^{i(\beta+\gamma)} \int_0^\infty t e^{-u^{i\alpha} t} dt \\ &= u^{i(\beta-\alpha)} v^{i(\beta+\gamma)} \frac{e^{-u^{i\alpha} t}}{-u^{i\alpha}} \Big|_0^\infty = u^{i(\beta-2\alpha)} v^{i(\beta+\gamma)} \end{aligned}$$

Theorem 2.6 If $f(t) = e^{at}$, then $KI[f(t)] = \frac{(uv)^{i\beta}}{u^{i\alpha} - av^{i\gamma}}$

Proof. By using Eq (1) we obtain

$$\begin{aligned} KI[e^{at}] &= (uv)^{i\beta} \int_0^\infty e^{a(v^{i\gamma} t)} e^{-u^{i\alpha} t} dt = (uv)^{i\beta} \int_0^\infty e^{-(u^{i\alpha} - av^{i\gamma})t} dt \\ &= \frac{(uv)^{i\beta}}{-(u^{i\alpha} - av^{i\gamma})} e^{-(u^{i\alpha} - av^{i\gamma})t} \Big|_0^\infty = \frac{(uv)^{i\beta}}{u^{i\alpha} - av^{i\gamma}} \end{aligned}$$

Theorem 2.7 If $f(t) = e^{-at}$, then $KI[f(t)] = \frac{(uv)^{i\beta}}{u^{i\alpha} + av^{i\gamma}}$

Proof. By using Eq (1) we obtain

$$\begin{aligned} KI[e^{-at}] &= (uv)^{i\beta} \int_0^\infty e^{-a(v^{i\gamma} t)} e^{-u^{i\alpha} t} dt = (uv)^{i\beta} \int_0^\infty e^{-(u^{i\alpha} + av^{i\gamma})t} dt \\ &= \frac{(uv)^{i\beta}}{-(u^{i\alpha} + av^{i\gamma})} e^{-(u^{i\alpha} + av^{i\gamma})t} \Big|_0^\infty = \frac{(uv)^{i\beta}}{u^{i\alpha} + av^{i\gamma}} \end{aligned}$$

Theorem 2.8 If $f(t) = e^{ait}$, then $KI[f(t)] = \frac{(uv)^{i\beta}}{u^{i\alpha} - aiv^{i\gamma}}$

Proof. By using Eq (1) we obtain

$$\begin{aligned} KI[e^{ait}] &= (uv)^{i\beta} \int_0^\infty e^{ai(v^{i\gamma} t)} e^{-u^{i\alpha} t} dt = (uv)^{i\beta} \int_0^\infty e^{-(u^{i\alpha} - aiv^{i\gamma})t} dt \\ &= \frac{(uv)^{i\beta}}{-(u^{i\alpha} - aiv^{i\gamma})} e^{-(u^{i\alpha} - aiv^{i\gamma})t} \Big|_0^\infty = \frac{(uv)^{i\beta}}{u^{i\alpha} - aiv^{i\gamma}} \end{aligned}$$

Theorem 2.9 If $f(t) = e^{-ait}$, then $KI[f(t)] = \frac{(uv)^{i\beta}}{u^{i\alpha} + ai v^{i\gamma}}$

Proof. By using Eq (1) we obtain

$$\begin{aligned} KI[e^{-ait}] &= (uv)^{i\beta} \int_0^\infty e^{-ai(v^{i\gamma}t)} e^{-u^{i\alpha}t} dt = (uv)^{i\beta} \int_0^\infty e^{-(u^{i\alpha} + ai v^{i\gamma})t} dt \\ &= \frac{(uv)^{i\beta}}{-(u^{i\alpha} + ai v^{i\gamma})} e^{-(u^{i\alpha} + ai v^{i\gamma})t} \Big|_0^\infty = \frac{(uv)^{i\beta}}{u^{i\alpha} + ai v^{i\gamma}} \end{aligned}$$

Theorem 2.10 If $f(t) = \cos at$, then $KI[f(t)] = \frac{u^{(\alpha+\beta)i} v^{i\beta}}{u^{2i\alpha} + a^2 v^{2i\gamma}}$

Proof. By using Eq (1) we obtain

$$\begin{aligned} KI[\cos at] &= KI\left[\frac{e^{ait} + e^{-ait}}{2}\right] = \frac{1}{2}[KI[e^{ait}] + KI[e^{-ait}]] = \frac{1}{2}\left[\frac{(uv)^{i\beta}}{u^{i\alpha} - ai v^{i\gamma}} + \frac{(uv)^{i\beta}}{u^{i\alpha} + ai v^{i\gamma}}\right] \\ &= \frac{u^{(\alpha+\beta)i} v^{i\beta}}{u^{2i\alpha} + a^2 v^{2i\gamma}} \end{aligned}$$

Theorem 2.11 If $f(t) = \sin at$, then $KI[f(t)] = \frac{au^{i\beta} v^{i(\beta+\gamma)}}{u^{2i\alpha} + a^2 v^{2i\gamma}}$

Proof. By using Eq (1) we obtain

$$\begin{aligned} KI[\sin at] &= KI\left[\frac{e^{ait} - e^{-ait}}{2i}\right] = \frac{1}{2i}[KI[e^{ait}] - KI[e^{-ait}]] = \frac{1}{2i}\left[\frac{(uv)^{i\beta}}{u^{i\alpha} - ai v^{i\gamma}} - \frac{(uv)^{i\beta}}{u^{i\alpha} + ai v^{i\gamma}}\right] \\ &= \frac{au^{i\beta} v^{i(\beta+\gamma)}}{u^{2i\alpha} + a^2 v^{2i\gamma}} \end{aligned}$$

Theorem 2.12 If $f(t) = \cosh at$, then $KI[f(t)] = \frac{u^{(\alpha+\beta)i} v^{i\beta}}{u^{2i\alpha} - a^2 v^{2i\gamma}}$

Proof. By using Eq (1) we obtain

$$\begin{aligned} KI[\cosh at] &= KI\left[\frac{e^{at} + e^{-at}}{2}\right] = \frac{1}{2}[KI[e^{at}] + KI[e^{-at}]] = \frac{1}{2}\left[\frac{(uv)^{i\beta}}{u^{i\alpha} - av^{i\gamma}} + \frac{(uv)^{i\beta}}{u^{i\alpha} + av^{i\gamma}}\right] \\ &= \frac{u^{(\alpha+\beta)i} v^{i\beta}}{u^{2i\alpha} - a^2 v^{2i\gamma}} \end{aligned}$$

Theorem 2.13 If $f(t) = \sinh at$, then $KI[f(t)] = \frac{au^{i\beta} v^{i(\beta+\gamma)}}{u^{2i\alpha} - a^2 v^{2i\gamma}}$

Proof. By using Eq (1) we obtain

$$\begin{aligned}
 KI[\sinh at] &= KI \left[\frac{e^{at} - e^{-at}}{2} \right] = \frac{1}{2} [KI[e^{at}] - KI[e^{-at}]] = \frac{1}{2} \left[\frac{(uv)^{i\beta}}{u^{i\alpha} - av^{i\gamma}} - \frac{(uv)^{i\beta}}{u^{i\alpha} + av^{i\gamma}} \right] \\
 &= \frac{au^{i\beta} v^{i(\beta+\gamma)}}{u^{2i\alpha} - a^2 v^{2i\gamma}}
 \end{aligned}$$

2.2 Kuffi Issa Transform of derivatives of $f(t)$

$$\begin{aligned}
 KI[f'(t)] &= (uv)^{i\beta} \int_0^\infty f'(v^{i\gamma} t) e^{-u^{i\alpha} t} dt, \\
 &= (uv)^{i\beta} \left[e^{-u^{i\alpha} t} \frac{f(v^{i\gamma} t)}{v^{i\gamma}} \Big|_0^\infty - \int_0^\infty f(v^{i\gamma} t) e^{-u^{i\alpha} t} \left(\frac{-u^{i\alpha}}{v^{i\gamma}} \right) dt \right] \\
 &= \frac{u^{i\alpha}}{v^{i\gamma}} F - f(0) u^{i\beta} v^{i(\beta-\gamma)}
 \end{aligned}$$

3 Applications of Kuffi Issa Transform

Now we will provide a solution to some chemical and health problems using Kuffi Issa Transform

Application 3.1 Consider the following Differential Equation

$$\frac{dc}{dt} = -k_0 c, \quad c(0) = c_0 \quad (3)$$

By taking KI transform of Eq (3), we obtain

$$KI \left[\frac{dc}{dt} \right] = KI[-k_0 c]$$

$$\frac{u^{i\alpha}}{v^{i\gamma}} F - c_0 u^{i\beta} v^{i(\beta-\gamma)} = -k_0 u^{i(\beta-\alpha)} v^{i\beta},$$

$$F = (-k_0 u^{i(\beta-\alpha)} v^{i\beta} + c_0 u^{i\beta} v^{i(\beta-\gamma)}) \cdot \frac{v^{i\gamma}}{u^{i\alpha}},$$

$$F = -k_0 u^{i(\beta-2\alpha)} v^{i(\beta+\gamma)} + c_0 u^{i(\beta-\alpha)} v^{i\beta},$$

The analytical solution of (3) is

$$c(t) = F^{-1} = -k_0 t + c_0$$

Application 3.2 Consider the following Differential Equation

$$\frac{dc}{dt} = -k_1 c, c(0) = c_0, k_1 > 0 \quad (4)$$

By taking KI transform of Eq (4), we obtain

$$KI\left[\frac{dc}{dt}\right] = KI[-k_1 c]$$

$$\frac{u^{i\alpha}}{v^{i\gamma}} F - c_0 u^{i\beta} v^{i(\beta-\gamma)} = -k_1 F,$$

$$F = (c_0 u^{i\beta} v^{i(\beta-\gamma)}) \cdot \frac{v^{i\gamma}}{u^{i\alpha} + k_1 v^{i\gamma}},$$

$$F = c_0 \frac{(uv)^{i\beta}}{u^{i\alpha} + k_1 v^{i\gamma}},$$

The analytical solution of (4) is

$$c(t) = F^{-1} = c_0 e^{-k_1 t}$$

Application 3.3 Consider the following Differential Equation

$$\frac{dy}{dt} + \frac{y(t)}{200} = \frac{3}{4}, y(0) = 20, \quad (5)$$

By taking KI transform of Eq (5), we obtain

$$KI\left[\frac{dy}{dt} + \frac{y(t)}{200}\right] = KI\left[\frac{3}{4}\right]$$

$$\frac{u^{i\alpha}}{v^{i\gamma}} F - y(0)u^{i\beta}v^{i(\beta-\gamma)} + \frac{1}{200}F = \frac{3}{4}u^{i(\beta-\alpha)}v^{i\beta},$$

$$F = \frac{4000(uv)^{i\beta} + 150u^{i(\beta-\alpha)}v^{i(\beta+\gamma)}}{200u^{i\alpha} + v^{i\gamma}},$$

$$F = 150u^{i(\beta-\alpha)}v^{i\beta} - \frac{130(uv)^{i\beta}}{u^{i\alpha} + \frac{1}{200}v^{i\gamma}},$$

The analytical solution of (5) is

$$y(t) = F^{-1} = 150 - 130e^{\frac{-t}{200}}$$

4 Conclusion

In this paper, a new transformation (Kuffi-Issa Transform) is constructed and applied to chemical and health problems. The main advantage of KIT transformation is that it gives solutions with less effort without dealing with long and complicated calculations. These complex powers in this transformation are what gave ease in simplifying the solution, as well as generality to many integral transformations with two parameters. In addition, this transform has been proven to solve differential equations. In future studies, we can use this transform to deal with partial differential equations, and difference equations.

References

- [1] Issa, A., Kuffi, E. and Düz, M., A Further Generalization of the General Polynomial Transform and its Basic Characteristics and Applications, Journal of University of Anbar for Pure Science. 17(2) (2023) 338-342.
- [2] Kumar, P.S. and Viswanathan, A., Application of Mahgoub transform to mechanics, electrical circuit problems, International Journal of Science and Research. 7(7) (2018) 195-197.
- [3] Ahmadi, S.A.P., Hosseinzadeh, H. and Cherati, A.Y., A new integral transform for solving higher order linear ordinary Laguerre and Hermite differential equations, International Journal of Applied and Computational Mathematics, 5 (2019) 1-7.
- [4] Pavani, P.V., Priya, U.L. and Reddy, B.A., Solving differential equations by using Laplace transforms, Int. J. Res. Anal. Rev. 5 (2018) 1796-1799.
- [5] Düz, M., Avezov, S. and Issa, A., Solutions to Differential-Differential Difference Equations with Variable Coefficients by Using Fourier Transform Method, Süleyman Demirel University Faculty of Arts and Science Journal of Science. 18(3) (2023) 259-267.
- [6] Elzaki, T.M., The new integral transform Elzaki transform, Global Journal of pure and applied mathematics. 7(1) (2011) 57-64.
- [7] Aboodh, K.S., The New Integral Transform' Aboodh Transform, Global journal of pure and Applied mathematics. 9(1) (2013) 35-43.
- [8] Mansour, E.A., Mehdi, S. and Kuffi, E.A., The new integral transform and its applications. International Journal of Nonlinear Analysis and Applications. 12(2) (2021) 849-856.
- [9] Maktoof, S.F., Kuffi, E. and Abbas, E.S., "Emad-Sara Transform" a new integral transform, Journal of Interdisciplinary Mathematics. 24(7) (2021) 1985-1994.

- [10] Mansour, E.A. and Kuffi, E.A., The Mayan Transform: A Novel Integral Transform of Complex Power Parameters and Applications to Neutrosophic Functions, Full Length Article. 23(1) (2023) 323-334.
- [11] El-Mesady, A.I., Hamed, Y.S. and Alsharif, A.M., Jafari transformation for solving a system of ordinary differential equations with medical application, Fractal and Fractional. 5(3) (2021) 130.
- [12] Emad Kuffi, Eman Mansour, Ahmad Issa., SEE Transform Technique in Control Theory, Journal of Kufa for Mathematics and Computer. 11(2) (2024) 147-149.